KENDRIYA VIDYALAYA KOLKATA REGION
PREBOARD EXAMINATION : MARKING SCHEME
CLASS XII : COMPUTER SCIENCE (083)
SESSION 2020 – 21

MAX. MARKS : 70						MAX TIME : 03:00 HRS	

	Question No.
	Part – A
	Marks allocated

	
	SECTION – I
1 MARK FOR CORRECT ANSWER
	

	1
	[[3, 4], 16, 40]
	1

	2
	While, _123
	1

	3
	COMMA SEPERATED VALUES
	1

	4
	+
	1

	5
	12
	1

	6
	d = {‘a’ : ‘January’, ‘b’ : ‘February’, ‘c’ : ‘March’}
	1

	7
	int
	1

	8
	casefold()
	1

	9
	POP3
	1

	10
	2 Access to a bank account for getting unauthorised money transaction. 
	1

	11
	WHERE
	1

	12
	Select * from company where fname IS NOT NULL;
	1

	13
	AGGREGATE
	1

	14
	DROP
	1

	15
	INTELLECTUAL PROPERTY RIGHTS
	1

	16
	1
	1

	17
	NO OUTPUT
	1

	18
	DESCRIBE student; or DESC student;
	1

	19
	(Tbps > Gbps > Mbps > Kbps > bps) or (Tbps, Gbps, Mbps, Kbps, bps)
	1

	20
	GENERATION
	1

	21
	PRIMARY KEY
	1

	
	SECTION – II
	

	22
	1) 3
2) 4
3) YES, Aggregate functions does not consider NULL values.
4) Cardinality : 3, Degree : 4
5) CUST_ID
(1 Mark for each correct answer (any four), in 3) ½ mark for each correct answer)
	4

	23
	1) csv
2) writerow(header)
3) writerow(row)
4) csv.reader(fin)
5) next(csv_reader)
(1 Mark each for correct answer)
	4

	
	PART - B
	

	
	SECTION – I
	

	24
	a) 11    b) True
(1 Mark each for the correct output)
	2

	25
	Web Browser : A web browser is a software application for accessing information on the World Wide Web. When a user requests a web page from a particular website, the web browser retrieves the necessary content from a web server and then displays the page on the user's device. 
Web Server : A web server is a computer that runs websites. The basic objective of the web server is to store, process and deliver web pages to the users. This intercommunication is done using Hypertext Transfer Protocol (HTTP). 
Popular web browsers : Google Chrome, Mozilla Firefox, Internet Explorer etc 
(1 Mark for the correct difference and ½ mark each for correct name web browers)
OR
● Higher download/upload speeds in 4G compared to 3G
● Greater bandwidth and flexibility in 4G compared to 3G
● 3G is Voice+Data whereas 4G is only Data with voice overriding.
Service providers : Airtel, Reliance Jio, Vi etc
(½ mark each for any two correct difference and ½ mark each for correct service provider name)
	2

	26
	i) Mega bytes per second
ii) Hypertext transfer protocol secured
iii) Extensible markup language
iv) Wireless local loop
(½ mark each for correct expansion)
	2

	27
	To=30
for K in range(0,To):
    if k%4==0:
        print(K*4)
    else:
        print(K+3)
(½ mark each for each for correction)
	2

	28
	10
10
(1 mark each for correct line of output. Deduct ½ mark if output generated correctly but not placed in two lines)
	2

	29
	(i) 30 - 40 - 50 –
Maximum values : BEGIN – 3
Minimum value : LAST – 1
(1 mark for correct option. ½ mark each for correct max and min value)
	2

	30
	1) To maintain referential integrity with other relation(s).
2) To reduce data redundancy.
( 1 mark each for correct answer)
	2

	31
	1) fetchone() : None, fetchall() : [] ( Empty list )
2) No. of rows fetched.
(1. ½ mark each for correct answer.
2. 1 mark for correct answer)
	2

	32
	Candidate key(s) : ID, (DESIG, SALARY)
Alternate key(s) : (DESIG, SALARY)
(1. ½ mark for each correct answer. 2. 1 mark for correct answer)
	2

	33
	$$BSE4455$$COM
(2 marks for correct answer and 1 mark for partially correct answer if teacher satisfied)
	2

	
	SECTION – II
	

	34
	( Any equivalent code to be considered for marks)
def PUSH(N): 
    s=[] 
    for i in range(0,len(N)): 
        if len(N[i])>4: 
            s.append(N[i]) 
    if len(s)==0: 
        print("Empty Stack") 
    else: 
        print(s) 
( 1 mark for correct definition, 1 mark for correctly pushing elements into the list, 1 mark for appropriate message )
	OR	
def POP(N) : 
# If stack is empty 
    if len(N)==0: 
        print("Underflow") 
    else: 
        return N.pop()
( 1 mark for correct definition, 1 mark for correctly checking for empty stack and appropriate message, 1 mark for returning element correctly )
	3

	35
	Output:
file handl
ing concept
In python programming language
(1 mark each for correct line of output)
OR
( Any equivalent code to be considered for marks)
# function to write lines if lines contain more than five words
def func():
    fin = open("story.txt","r")
    fout = open("current.txt","w")
    lines = fin.readlines()
    for line in lines:
        words = line.split()
    if len(words) > 4:
        fout.write(line)
    fout.close()
    fin.close()
( 1 mark for correctly creating function and opening files, 1½  mark for the correct logic, ½ mark for closing files.
	3

	36
	( Any equivalent code to be considered for marks)
def func(S):
    m = ""
    if len(S) % 2 == 0:
        for i in range(0,len(S),2):
            m = m + S[i+1] + S[i]
        return m
    else:
        return "Illegal string"
(1 mark for function declaration and checking for illegal string, 1 mark for the logic to swap, 1 mark for correctly returning output)
	3

	37
	1) 
	FIRSTNAME

	GEORGE

	MANILA

	ROBERT


2) 
	sum(distinct benefits)

	82000


3) 
	DESIGNATION
	max(SALARY)
	min(SALARY)

	Manager
	75000
	65000

	Director
	80000
	80000

	Clerk
	50000
	40000

	Salesman
	32000
	28000


(1 Mark each for correct answer)
	3

	
	SECTION - III
	

	38
	1) Administrative office as it has highest no. of computers
[image: ]2) 
3) Switch
4) Topology : Star topology
5) Network cable : Ethernet Cable / Coaxial Cable
(1 mark for each correct answer. In one ½ mark each for correct answer)
	5

	39
	1) Select Firstname,Lastname,Address,City from Employees where City=”Paris”;
2) Select * from Employees Order By Firstname Desc;
3) Select Firstname, Lastname, Salary+Benefits Total_Salary from Employees, Empsalary where Designation=”Manager” and Employees.EmpId=EmpSalary.EmpId;
4) Select Designation, max(Salary) from EmpSalary where Designation=”Manager” or Designation=”Clerk”;
5) Select E.*, M.* from Employees E NATURAL JOIN EmpSalary M;
(1 Mark each for correct answer. ½ mark can be given to students depends on checker)
	5

	40
	def search_bin():
    import pickle
    fin = open("student.pi",'rb')
    user_input = int(input("Enter adm no to be searched:"))
    flag = 0
    try:
        while True:
            val = pickle.load(fin)
            if val[0] == user_input:
                flag = 1
                print(val)
                break
    except:
        pass
    if flag == 0:
        print("RECORD NOT FOUND")
    fin.close()
(1 Mark for declaring function and importing pickle module,
1 Mark for opening and closing file correctly
½ Mark for asking user for input
1½ Mark for the logic to search the record.
1 Mark for correctly displaying output)
	5
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